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(2014 Admn. Onwards)
COMPLEMENTARYCOURSE IN IMATHEIlIATICS

3C03|V|AT-BCA : l\,lathematics for BCA - lll

SECTION A

Allthe I rst 4 queslons are compulsory. They carry I rnark each

1 Find lhe general solution lo y' = x'?y.

2. Evauale W (cos ox, sin ox).

3. Flfd ihe Laplace iranstorm ol i""

4. Give the one-dirnensional heal equaiion.

SECT ON _ B

Answerany 7 questons irom amonq the questions 5lo 13. These qrestons carry

5 Solve lhe inilial value problem : y' + y tan x = eintrcos x, y(0) = 0

6. F nd lhe orlhogona lrajeclores ofthe iamily oi curves, x'?y = c.

7. F nd lhe oenera so ulon lo xv = .1 v'?+ v.



lfflt ]ll ilIllll lKlaU 1905

8.sove:x.y +:xy ;y=o.

1

L F nd io t;l (1) equa s 1n3)6, 5)

1 0. Find the Lap ace kanslorm ol 5e d sin oi

11 Find lhe Fo!.er series ol the 1u.cl on

n I 2ix. I

l(,)= [ t I ' I

12. SoLve ior u = u(x y) !,, = 4x!,.

l3 Find the va Lre oi c n llre one dimensional heai equalion such thal
u = e r,sin 4x is a so uton to ii (7x2=1a)

' SECTON_C

Answer any 4 questions lrom arnong the quesl ons 1 4 to 19 These queslions cairy

14 TFs lo p'd lessa'osoro. \o .d\-0

15 Find rhe basis ol solulions ol lhe oDE (x'l x)y" xy + y = 0

16. Solve by vaiaton oi paramelers. y" -2y'+ y = et s n x.

17 Frnd lhF nverse transform olln l+-rl

r8 Find lhe Fo!rer series ol tlre iunction

0
'' lEs.,rir011

19. Fndthetype translorm lo normaliorm andsove:1r,, 4!r+3u$=0. (4:3=12)
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SECT ON. D

Answerany 2 quesllonslrom amonglhe qlestjons 20 to 23. These queslions carry

20. Finding an inleglal ng factor solve,

(cos xy + )dy) dx + (1 + ()dy) cos xy) dy = 0

2l Solve lhe niialva ue probern

y" +2y'+ l9y = 17 sin x 37 s n 3x, y(0)= 6 6 y10)= 2 2

22 Applying Laplace iranslorm, solve the lo ow ng system.

y'= - 6y, + 4y? y, (0)= 2,

U=-4y,+4y. y"(oJ= 7.

23. Find (a) the Fouriercosine seies and (b) lhe Fouder sine ser es ol lhe iunclion

I del ned by l(x) - 2 - x; 0 < x < 2 (5N2:10)


